9. ro¢énik — Rovnice 1.

Rovn mkem

S_neznamotu I | ymenovateli

Res rovnici:

8.(5 — x)

=8
9x— 3.(x + 3)

32.(7 — 2x)

5(3x—5) — 4 (3x_8) -

2.(2x + 11) 1

11— 7.(11 + 2x) 2

17.(8 + 5x)
15— 2.(3x +2)

7.(2x — 11)

=1
31— 5.(23 — 3x)

27-5.(53 —x) 1

20 — 7.(x— 54) 4

5 —4.(x—4) 1

2x — 31.(4 +x) 5

6x — 4.(26 — 2x )
8(x—-8)—x

5.(x — 7)

=7
x — 3.(x— 68)

16.(1 —x) 20
5.(30 + x) + x
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9. ro¢nik — Rovnice II.
A ¥

IR =94

1. Res rovnici: 9x-3(x+3) .

58(5”"‘). =
9x-3(x+3)

40-8x
9x—3x-9

x=2

18-3-5 3 8=P(2)
| 3

Podminky: 6x-9#0 = x*%:s xe =

Zkouska: L(2)=
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9. ro¢nik — Rovnice II.

11-7(11+2x) 2

11-7(11+2x)
4x+22

/-2(~66-14x)

Sx+44=-66-14x /—44+14x
22x=-110 /:22
x=-5

T W ) [ TS
11-7(11-10) 4 2

podnﬁnkm-s'c-uxaeo:»u-?
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9. ro¢nik — Rovnice II.

27-5(53-x) _1

6. Res rovnici =
"20-7(x-54) 4

Reseni:

27-5(53-x) 1

20-7(x-54) 4
27-265+5x _1

20-7x+378 4
5x-238 1

T7x+398 4
4(5x-238)=-7x+398
20x-952=-7x+398 /+7x+952
27x=1350 [:27
x=50

/-4(=7x+398)

27-5(53-50) 27-15_ 34"
20-7(50-54) 20+28 48,

Podminka: —7x+398 # 0 = xaeigs =>x¢3—:8-

Zkouska: L(50)=

=%= P(50)
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